
        WINCH MOUNT INSTRUCTIONS 

                     HONDA TALON 

                   

 

 

 

 

 

 

 

Remove the side bolts on that hold plastic to 

bumper. 

 

Remove the front bumper. 

 

Place winch mount in place as shown in picture 

and use the 4 - 5/16 round U-bolts, washers and 

nuts to attach to frame tubes. Leave Loose for 

now. 

 

Slide bumper back in place. Depending on winch 

you may have to slide winch in place before 

installing the front bumper back on. 

 

Once bumper is installed back in place you can 

Attach the front portion of the mount with the  

2 - 5/16 square U-bolts, washers and nuts then 

align winch mount and tighten securely.  

 

Attach winch with hardware provided with winch 

and wire to there instructions.  

 

NOTE: Winch will hang upside down so cable 

should come of the top and through fairlead. 

 

Re-attach the plastic to bumper when all 

completed. 

 

 

 

 

 

 

 

 

 

 

Question or Comments Call 320-964-1616 Mon-Thur.  7:00 to 4:30 CST                                             INST1641 

 

ITEM PART# QTY. DESCRIPTION

1 1641-1 1 Winch Mount Plate

2 HDW9205 4 5/16 x 1-1/2 x 2-3/16 Rd. U-Bolt

3 HDW2079 2 5/16 x 1-1/2 x 2-3/16 Sq. U-Bolt

4 HDW7058 12 5/16 Nylock Nut

5 HDW9002 12 5/16 Flat Washer


